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7 Euler O 23

8 Rungr-Kutter [ 25
ijs sorubuijs

tex sorubu.tex

1 JUdoogooon
11 000

Exampley = x3+ x-1

000 (p)O0OD0O0O0O0OOCOOOOO00O0O0O0O0O00OOOOOO0

stepsd nimericO 00 0000000000000 OCO0OO0OO0OOCOO0OOOOOOOO
oo
0000000 000000000000 XOOOooOooooooao

load ’'plot numeric trig’

i:5
5.4 _3_2_1012345

f0=. _110 1 &p.

_1 10 1&. i:5
_131 _69 _31 _11 _3 _1 19 29 67 129

plot _1 1 0 1&p. steps _5 5 100

pd ’plot_f0.eps’

Example x* - 10x3 + 36x? —58x+35=0
plot 35 _58 36 _10 1& p. steps _100 100 1000
Example x* + y°

f3=.3 : "({. yv.)"4) + ({: yv.)"6’



100~

-100—

O 1 plotf0

'wire’ plot > £3 L:0 {(steps _1 1 100);steps _1 1 100

steps 0 OO O0O0O0OD0 "_nO0000000ODO0ODO plotdO0ODOOOOO
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2 Joooooooo
21 000

0000 JO0OO0OO polinominalp) 00000 O0OOOOOOO
Example x*—10x3 + 36x* —-58x+35=0
O 4.41421 2+ 1j 1.58579

p. 35 _58 36 _10 1
s ittt +
|1]14.41421 2§1 2j_1 1.58579]

e e ettt e T e +

211 000000000
000 ExampleD OO0 O0OO0O0O0O00ooooooOO
PnX = X"+ a X"t 4+ -+ A x + a,
DD_DDDDDDDDDDDDDD

—a —& o —@1 a0 |
1 0 - 0 0
A=| 0 1 - 0 o0
0 0 - 1 0

0000000000 A0 pp(x)=00000000000000000000

a2
10 _36 58 _35
1 0 606 0o
O 1 0 ©
® 06 1 ©

] a3=.>{: zgeev_jlapack_ a2
0.974005 0.895144 0.895144 0.785996



0.220652 0.358057j_0.179029 0.358057j0.179029 0.495651
0.0499867 0.107417j_0.143223 0.1074173j0.143223 0.312558

0.011324 0.0143223j_0.0787726 0.0143223j0.0787726 0.1971
(<0 D&|: %. a3) +/ . * a2 +/ . * a3
4.41421j_2.36526e_12 2j1 2j_1 1.58579j5.32047e_13
Example 8x3+ 12x% + 14x + 9
p. 9 14 12 8
e +
[8]1_0.288073j1.06524 _0.288073j_1.06524 _0.923854|
e e et ettt e +
L RERERERERE
a2
_8 _12 _14 _9
1 0 o O
0 O O
0 0 1 0
1 a3=.>{: zgeev_jlapack_ a2
0.987873 0.620862 _0.5 0.620862
_0.153381 _0.124263j_0.510305 0.5 _0.124263j0.510305
0.0238146 _0.394564j0.204271 _0.5 _0.394564j_0.204271
_0.00369755 0.246867j0.28342 0.5 0.246867j_0.28342
<0 D&|: %. a3) +/ . * a2 +/ . * a3

_6.44064 _0.2796793j1.14855 _1 _0.279679j_1.14855

<0 1¢|HOOOODODOOOOoOoDo
0000 6.440640 000000 000 p.ODODOOO



plot(steps _10 10 100) ; 9 14 12 8&p. steps _10 10 100
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Example 1+2x+x?0 x=200000

121&p. 2

2.2 NewtonOOOOO

O00D000000D0D000DoOo00oooooOoJoooooooooooooo
N.Thomsond OO OOOOO0O0OOO0OO0O0OO0O0OO0OOOOOO
[Applying Matrix Divide in APL and J] ( APL Quote Quad 1994)

*1

0ooooooo

f(x)

(¥
00000000000000J000000D.00000 APLODDD0O000DO
0ooooo

goboboooobbtboooobbtbooodbbboooobbboooobbbooon

*IN.Thomsoro 000000000 J6.21162000000000000000000000000000
gbogoboooooooo



000000000000000000000000000000000000000
00O"s0 00000°: .0 00000000000000000 (°:100) 00000
0000000

Example y=x3+x-1000000000000000

fn00 x¥+x-1000000000000000000000000000000
000000000000 (0)000000newtonD000000000000000
0000000000000000000000000 (0)000000

_110 1&. new_1 i:3
0.682328 0.682328 0.682328 0.682328 0.682328 0.682328 0.682328

Example 8x3+ 12x* + 14x + 9
000000 NewtonDOOOGOODOOOOOODOOOO

9 14 12 8&p. new_1 i:3
_0.923854 _0.923854 _0.923854 _0.923854 _0.923854 _0.923854 _0.923854

O000000000000000000D0D0000 plotO stepsD 000000000
OO0O0OONewtonO OOOODOOODODODO

plot (steps ® 1 100); _1 1 ® 1&p. steps 0 1 100

NewtonD OO DO OO Xe1 =X — f(x)/f(x)000000000000000000
16900 0000000000000 00000000000000000,000000
01000 f(X)0000,00000000000000000 NewtonDOOOOOO
Doooon

2.2.1 Reference
NormanThomsom [Applying Matrix Divide in APL and J] ( APL Quote Quad 1994)
OO0 000000000 00oooog 1997



3 Joogoog
31 0D0OOoOoood

3.2 0JOOOOonOo

0oodooooooooodooodoooooooooooooooooood
ogoooooad

Ax=Db

X =
0000 b%. AODDOO

> o



X1 +2% —X3 =2
33X +4x4 =18
X1 -X3 =-2 S1
12 _1 2
0 3 4 18
10 _1_2

gobobooooobbooon

18 |% =2
1 -1 3
2 0

goobogoobobboooobboooobobobooooboboooobobooon
gboobobbomoboobooboboobuoobobbooboom

1 2 -1 2 1 2 -1

3 4 18 3 4 1001
%. =10 1 0 2
1 -1 -2 1 -1 00 1 3
U U
3.2.1 script and worked examples
cr=: %.}:"1
S1 cr S1
12 _.1 2 1001
® 3 418 0102
10 _1_2 0013



3.3 JOooono

3.3.1 Gauss-jordan O
Math package of J include gauss-jordan method

load ’system\packages\math\linear.ijs’

gauss_jordan S1
1001
01602
0013

34 JOOOooog

gboddododododouoouooooooooooooooouooooodgo

dob0dodoooobooouoobooooboooooooboooooooboooon
godooooooooooooood

000 addond] LAPACK O O jlapackijs, dgeeMjsOOO0O0O0O0OOOO0OO0OO0OO0O00OO

S3
6 4 _2
4 12 _4
_2 _4 13

a=: dgeev_jlapack_ S3

[4 18 9] 0.894427 0.333333 0.298142|
| | _0.447214 0.666667 0.596285]

10



[1.49233e_16 _0.666667 0.745356]

fomm - oo +

a2=. (%.>2{a) +/ . * S3 +/ . * >2{a

4 1.04835e_16 _9.99201e_16
_2.25555e_15 18 5.32907e_15
4.4475e_16 0 9

taikaku=: 3 : 0

NB. solve with disg

TMPO=: dgeev_jlapack_ y.

TMP1=: (%.>{: TMP®) +/ . * y. +/ . * >{:TMPO®
)

taikaku2=: 4 : 0

NB. x. is y_n

NB. seimal regression

TMPO=: dgeev_jlapack_ y.

TMP1=: (%.>{: TMP®) +/ . * y. +/ . * >{:TMPO®
TMP2=: ( |: >{: TMPO®) +/ . * X.

TMP3=: TMP2 %. TMP1

G {: TMP®) +/ . * TMP3

)

4 QUoooogd

4.1 0O0O0O NewtonO

411 200
fo=€e"+xy-1
Jo = SINXY+ X+y+ 2
000 TacitO Explicit DOOO0O0OExplict D OO ODO0D0O0O0000O00OO0OOOOO

11



gogoboboomuoooooo

f0=: -&l@(*/)+"@{.
g0=: +&2@(+/)+1&o0.@*/

f00=: 3 : '(C"{.yDH)+*/y.)-1’
g00=: 3 : ’'2+(+/ y.)+1&0.*/ y.’

0O Multiple O NewtonO OO O OODOODOOOQDO Divide() O 0O OO

Matrix Divide(%.) OO ODOOOOODO
Multiple NewtonO O D.10 000000000 jac=: 1 : ’x. D.1’000000

goooo
(C:17)y0O0b0O00o0OO0obOoOboOoboOoDbD 1yoobOobOobog

new_2=: 1: 7] -x. (%.]:)x. D.1” (C:17) ("D

(£0,90) new_2 11
_9.4112e_6 _2

(£00,900) new_2 1 1
_9.41097e_6 _2
(f0,g0) 000000000
9.41097e_6 _2 0 0 _2
agooa
412 30000
hi(x,y,2) = 16x* + 16y* + Z* - 16

ho(X,y,2) = X2 +y?> + 22 - 3
ha(x,y,2) = x* ~y

hi=:3 : > (1616 1 +/ . * y. 4)- 16’
h2=:3 : ’3- +/ y."2 "’

12



h3=:3 : 7 (M{y.)-"({. y.)"3)’

(h1,h2,h3) new_2 111
0.877966 0.676757 1.33086

(hl,(h2,h3)) new_2 1 11
0.877966 0.676757 1.33086

(h1,(h2,n3))D 00000000000 0hL,h2,n3,M4.0000000,0000000
gooo

4.1.3 Reference
NormanThomsom [Applying Matrix Divide in APL and J] ( APL Quote Quad 1994)

5 AtOo0O

1 1
t_ 242 3t3. ..
e _I+At+2!At +3!At

51 DOOOOOO

gobobooodoobboooobboooobobooooon
goboboogooooo,gooboboogooo
OO0 ADDDOOOOOOO0O0O0000000000 P,---.PO0000OO0O0OO

aoo
(A_/lll)"'\k,_/"'(A_/lrl)

P =
A=Ay k(A=)

1 _(%—%)+}

5.6 5 6

a7

11_1

13



dgeev_jlapack_ a7 NB. compute eigenvalues and eigenvectors

it ettt Fom - +
| 0.707107 _0.707107 _0.57735|_6.66134e_16 2 1|
| _0.707107 _7.05086e_16 0.57735] |
|1.66533e_16 0.707107 0.57735] |
e e Fom - +

as=. ® 1 2 NB. _0.66134e_16 is ®
as ) sp a7

0
o0 P1
0

-1 1 1 P2

000000000000 0000P10D P20 P3ODO0OOO0OOODODOOOOOODO
gogooood

A=0-P1+1-P,+2-P;00 0,1,20000

explictD 00000000000 OOOOO

0 1 2 spe a7

14



e e e +
[1 21 0]_111]16 _1|
6 0 0|_111[16 _1|
[1 _10/_111|6 0 O]

e e +--mm - +

gopobooooon

a8
011
101
1160

2 _1 spe_d a8

|0.333333 0.333333 0.333333 |
[0.333333 0.333333 0.333333 |
[0.333333 0.333333 0.333333 | NB. (1r3)(M+I) OO

| 0.666667 _0.333333 _0.333333|
|_0.333333 0.666667 _0.333333]
|_0.333333 _0.333333 0.666667| NB. (-1r3)(M-2I)

D et R Lt +
1 11 2 -1 -1
-l 1 @i o2 g et
3 3
1 11 -1 -1 2
example

15



a:x+2y+z
%:—x+4y+z
g—f:2x—42y
a9 1{ dgeev_jlapack_ | 2 1 spe a9
1 21 a9 +-——————- +
1 41 | 0 2 1]
2_40 +-——=- + [_1 3 1]
|2 1 2] | 2 _4 _1|NB.P1
+-—-—= + +-——————- +
000 -z
| 1 _2 _1]
|_2 4 2|NB.P2
e +

16




eMt = e‘Pl + e2th

5.1.1 script

spe=: 4 : 0

NB. spectol explicit

NB. x. is /: eigenvalue

NB. y. is matrix

NB. Usage. X. spe y.

ind=: -. (i. # x.) =/ "i. # x.

TMPO=: x. ,. ind #/ x.

TMP2=: */"1 TMP1=:({."1 TMPO®) - }."1 TMPO® NB. bunshi
I=: =/7i. # y. NB. tani matrix

TMP3=: y. - L:0 <"2(}."1 TMPO) */ I

({@>% TVMP2) * L:0 ({."1 TMP3) +/ . * L:0 {:"1 TMP3
if. 1=({: $ TMP3) do. ({@ % TMP2) * L:® TMP3 end.
NB. if. double eigenbalue

)

512 0O0O0OO
0000000000 O0oDOoOO00oDo0ooooOoooO 1994

6 Joodoooon

6.1 Hessian

newtond 000000000000 0000O0O0O0O0O00O0O0OOO0O0OO?
O00000,00000 f0000000O0ODODODOOOO NnODOODOOOO

2 00000000000000000000000000000000000000000000000
gbooooo
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2 B
Hfl] _M9(I9J_1a“'9n)

O00000000000000C.Reiter0 0000000000
O000000000000000000000000000000000o0o0o0Or jac
ggobooboooooo

aooo
f(X) = X = 2% + 336 — 353
2X1 — 2X
Vi(X) = O LT
2% + X5 — %5

hsl=:4 4 § _2 2 (14)} 16#0
hs2=:4 4 §$ _1 1 _2 (23 4)} 16#0
N=: 4

hs3=. al,:a2

hs3

18



X0 Xl %?  x®
x°] 0 2 0 0O
xt | 2 0 0 0
x12 | 0 0 0 0
x2 | 0 0 0 0
x° 0 0 1 1
xt | 2 0 0 0
x12 | 0 0 0 0
x2 | 0 0 0 0

*3

000 %=33)00 vix)ooooo

hs3 P 3 3
0 12

000 % =(3,3)00 Hf(x)0OOOO

hs3 P D.1("0) 3 3
2 _2
_2 21

6.2 newtonO OO QOOOO

D0000D000000000 newtonDODOOODDOOO0ODOO
newtonD D00 DO000O00O0OO0O0OOO0DOODOOO
D00D00000x. P jacy. 00000000000

X 0000000000000 00000000o00
d=-HfeO)WvipdOoooooo X« x+dooooooooooooo

6.21 0O0O0OO
o000 N=ODOOOODOOOOOOO0O01{$x.00000000D007

*3Xn0:1

19



Hf(x0)™*

(%. hs3 P D.1("®) 3 3)
0.552632 0.0526316
0.0526316 0.0526316

Vi(xo)

hs3 P 3 3
0 12

do = Hf (%) 1V f(x0)

(%. hs3 P D.1("1) 3 3) +/ . * hs3 P 3 3
0.631579 0.631579

X1 = Xo + 0o = Xo — H (%) 2V f(X0)

33- (% hs3 P D.1("1) 33) +/ . *hs3 P 33
2.36842 2.36842

Oo0O00oooooooooo
c=. 2.36842 2.36842
c - (%. hs3 P D.1("®) c) +/ . * hs3 P ¢
2.07716 2.07716
oooog
a3 newml 33 00NB. OOOOO

2 2

oo 20 2000000

goboboodoobbboooobbbooobbbooobobboo

20



6.2.2 SCRIPT

NB. Partial differential
NB. by C.Reiter

NB.name of del f(x1 x2) is fixed

a=: 352 *"'1 (i.2 3 3)e. 57 12

N=: 1{ $ a NB. matrix size using in P

NB. P=: 1 : "((m. "_ +/ . * {:) +/ . * {)HaC/&({1.3))’
P=: 1 : '((m. "_+/ . *{D)+/ . *{HeC/&{E. N ))’

f=: a P
jac=: (D.1"1

NB.
NB. Script is written by M. Shimura 08 July 2002
NB.

new_ml=: 4 : 0
NB. Newton method for Maximum Likelyhood function
NB. x. Partial derivative matrix
NB. y. Start value
NB. N=: Matrix size
Y=: vy.
NR=: 0
while. NR < 10 do. NB. repeat 10 times (change if you wish)
D=: (%. x. P jacY) +/ . *x. PY
Y=:NT=: Y - D
NR=: >: NR
end.
Y
)

21



6.23 0OOOO
C. Reiter [ Fractal Visualization with J]
O00000000000000000000 wlOOooooooo 2002

22



gooooooon

7 EulerO

givenx— values O Xg, X, X, - -+ , XN

y = f(xy). ¥(X) = Yo
yn+1:yn+ f(Xn,yn)(Xn+1_Xn)’n:0,1,2,"' 9N_19
00000000000 O0$cdoiDDooooooOO

y1 =0+ f(1,0)(L1-1) =01

yo = 0.1+ f(1.1,0.1)(L2 - 1.1) = 0.22

ya = 0.22+ f(1.2,0.22)(14 - 1.2) = 0.504
ys = 0.504+ f(1.4,0.504)(15 — 1.4) = 0.6944

(]

| godn

y =2x+ 3y y(0)=1
7.04 000

gooboogoooooooooon

£15=:3 :

f15 euler 1

0.993164 23
0.994141
0.995117
0.996094

0.99707
0.998047
0.999023

"2 % {.yO+ 3 F L

;0 1

.1313
23.201
23.2709
23.3411
23.4114
23.4819
23.5527

y.

23



7.0.5 Script
NB.

euler=: 1 : 0

NB. Usage: f euler y.
NB. u. is function //e.g. fn=: +/ 1is y’=y+x
NB. Usage: u. euler y. //e.g. f euler 1;0 1//(y0;yl)
NB. y® is syokiti // yl is range of x //e.g. 0 1
BAND=:+/ | tmp=: > 1 { y.
dh=: BAND % 1024 NB. dh //pitch is 1024
XSTEP=: ({. >{: y.) + (i.1024) * dh
ANS=: ( (# XSTEP) , 2) $ O
NB. xn=: {.>{: y. NB. X0
NB. yn=: >{. y.

X=: {.>{: y. NB. X valuer
Y=: >{. y. NB. yl
COUNTER=: 0

while. COUNTER < # XSTEP do.
TMP=:dh *(TMP=: X,Y)

Y=:Y+ u. TMP NB. u. TMP is f(x,y)
ANS=: (X, Y) (COUNTER)}ANS

X=: X+dh

COUNTER=: >: COUNTER

end.

ANS

)

7.0.6 Reference
PetersofSochacki [Linear Algebra and Eerential Equation] Addison-Wesley 2002
gbddododooooooooooooon
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8 Rungr-Kutter [J

00000000 Carle Runge(1856-1927) 18950 0 0 00000000 ooooOO
0,190100,0000000000 MW.Kutter(1867-1944)] rungeD DO OO OO0
0 Runge-Kutted OO0 OO

4th order initial value

y = f(x¥). (X = Yo

weighted average of values

X0, X0 + N, X0 + 2h---Xo + Nh

set

an = f(%n, Yn)

by = T+ 2 Yo + Sa)

2 2

h h
Cn: f(Xn+§,yn+§bn)
f(% +h,yn + hGy)

The approximation fop(x, + 1)
h
yn+]_ = yn + é(an + 2bn + ZCn + dn)

8.07 O0ODO
O0O00000000O00D0O0O000O0OO0 1024

f15 runge 1;0 1

0.993164 23.2383
0.994141 23.3084
0.995117 23.3787
0.996094 23.4493

0.99707 23.52
0.998047 23.591
0.999023 23.6622

25



8.0.8 Script

runge=:1 : @
NB. Runge Kutter Method
NB. y. A;BC //e.g. y.=: 2; 01
NB. A is syokiti B C is start and goal of point to calc
NB. ussage: u. runge y. // u. is verb(function) ex. f=.+/ + */
NB. e.g. fn=: ("&2@{.)%}.
BAND=:+/ | tmp=: > 1 { y.
dh=: BAND % 1024 NB. dh NB. pitch is 1024
XSTEP=: ({. >{: y.) + (i.1024) * dh
ANS=: ( (# XSTEP) , 2) $ O
xn=: {.>{: y. NB. X0
yn=: >{. y.
COUNTER=:0
while. COUNTER < # XSTEP do.
NB. if. COUNTER = PIECE do. goto_end. end.
x1l=:xn + dh % 2
x3=:xn + dh
kO@=: (u. x3 , yn) * dh
kl=: (u. x1,yl=: yn + kO * 0.5) * dh
k2=: (u. x1,y2=: yn + k1 * 0.5)* dh
k3=: (u. x3,y3=: yn + k2)* dh
yy=: (+/ k® , (2 k1) ,2 *k2) , k3) % 6
yn=:yn + yy
ANS=: ((COUNTER{XSTEP),yn) COUNTER } ANS
NB. ANS=:( x3 , yn) ((COUNTER , 0) ;( COUNTER , 1)) } ANS
Xn=:x3
COUNTER=:>:COUNTER
end.
NB. label_end.

26



ANS

8.0.9 Reference
PetersofSochachi [Linear Algebra and Berential Equation] AddisolVesley 2002
doooooooobooooooooooon
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